
12

9

10

6

11

5

4

7

13

12

8

15

14

17

16

3

2

1

18

19

20

21

22

ITEM QTY P/N DWG # DESCRIPTION
1 1 41FL-XR9-U 45-101 41mm FLH Wide Glide, 9 Degree Upper
2 1 41FL-XR9-L 45-102 41mm FLH Wide Glide, 9 Degree Lower
3 1 NS-6 35-107 NECK STEM, 1" EXTENDED
4 2 FTI-41FB 38-101 FORK TUBE INSERT, Threaded, 41mm
.. 1 TTHK-001 TRIPLE TREE HARDWARE KIT, 41mm
5 1 MCM-90251A578 SCREW, 5/16-18 x 5/8" w/ Nylon Patch
6 2 MCM-9452K37 O-RING, 41mm, Buna 70
7 2 MCM-4534K42 1/4" PIPE PLUG
8 4 FAST-93255 5/16-18 x 1" SHCS
9 2 41FL-RBS 45-103 Riser Bushing Spacer
10 2 41FL-STI-U 45-104 Side Threaded Insert, Upper Tree
11 2 41FL-STI-l 45-105 Side Threaded Insert, Lower Tree
12 1 RB-001 Riser Bushing Kit
13 2 COL-FHS-136 1/2-13 x 2 3/4" Long Flat Head Socket Screw
14 1 FAST-1127 1-12 Hex Nut
15 4 FAST-73482 1/4-28 x 1 1/4" Socket Head Cap Scew
16 1 FAST-110120306 1/4-20 x 1 1/2" Hex Head Screw
17 1 41FL-ADAPTOR 45-106 CARTRIDGE DAMPER  ADAPTOR
18 2 FAST-93301 - - 3/8-16 x 1/2" SHCS
19 1 NBR-002 - - NECK BEARING
20 1 LDS-002 - - LOWER DUST SHIELD

FOR CUSTOM USE ONLY
21 4 COL-BHC-842 5/16-18 x 7/8" BHCS
22 4 COL-5/16-F-100 5/16 Flat Washer

TEZ

SIZE DWG.  NO.

B
REV.

MATERIAL

FINISH --

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

NAME DATE

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

STOCK SIZE:

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
HAWG HALTERS, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
HAWG HALTERS, INC. IS 
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

TOLERANCES UNLESS NOTED:
X.X :       +/-    .03
X.XX :     +/-    .01
X.XXX :   +/-    .005
FRAC :   +/-   1/16
ANGULAR :  +/- 1  

41mm FLH
9 DEGREE TRIPLE TREE

ASSEMBLY:

PART:

45-100

02/06/07

E

PART NO.  

41FLXR9

Hawg Halters, Inc.
389 Lumpkin County Parkway

Dahlonega, GA  30533

123456

A

B

C

D

6 5 4 3 2 1

A

B

C

D


	Sheet1
	Drawing View1


